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SN EA
B FOME MO CR(UUDIUE/UUBE)
Helr S HAIMHA S (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Og&ZIHES =2 1,650,000& 122 19,800
OdHIAAE EEZ 280,000& =128 3,360
OXZAANAY EEZ 45,0003 x12& 540
OAgHHEHAUH 2= 500,000& 12 500
OLml A28 24 200,000 128 2,400
Ogda g+ 22 & AE 300,000 300
02 =224l 49,667 48,669 998
03323 % HA 19,080
OEM &= 1,350,000& x12& 16,200
OFAN &5 Z JIESSe=
100,000 »12& 1,200
O=sNadEs HHESI| MAEE
40,000& 123 480
OINMERLSS(HEMN, XE)
150,000& »23] 300
OXNSIAM(ERS, MdELHI)
100, 000& 12 100
Ottt ZEEES(PRE, 4ELHI)
400,000& =204 800
OAIE ZHI S X 8,000
OF At 22l 3,000,000 3,000
OFAMN == Zel(EX,LH)
1,000,000& 23] 2,000
OAn2 HIZ =d 3,000,000& 3,000
O =l 14,461
OQl @ atetal LhEH(LPG) 30,000 53] x6E 900
Ogad s 22
1,435 %304 *3CH*105L 13,561
O Xt g & et 8,126
O==U 6,686
. BRE 1,857 %104 202 *12& 4,457
. SEEMX 1,857 %104 20 63 2,229
OxtgR Xl 1,440
. 4R E 80,000& 12 960
. SEEMX 80,000& x6& 480
SHEE2S 2l 62,700 57,475 5,225
201 Yet2 | 62,700 57,475 5,225
02 =224l 62,700 57,475 5,225
03323 2 HA 43,200
OsHEEAS &=
6,000 *600S *12& 43,200
O A& &EHl s Xl 19,500
OsEEets ||
65,000& *600S *50/ 100 19,500




2N SN
HH: FOIME MO CO(UNTTHH/ANBE)
Sl FOIBE B AMHIA M (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
orgts &=l 57,860 57,860 0
301 LetEa= 57,860 57,860 0
06&-cl-t¥eEs2d= 57,860 57,860 0
ood=g 55,760
oJlz=¥¢ 200,000& =178 ~12& 40,800
o= 200,000& »17% »23| 6,800
O3l ddsg 20,0003 x17H 22| x12& 8,160
ogd=+g 25,000 #42H %23 2,100
HAH X 22,140 22,640 A 500
201 2er= ] 2,140 2,640 A 500
01 At 22l bl 2,140 2,640 A 500
OAZ A AN A= 100,000& »43] 400
OLE A E=2 WA 60,0008 *42] 240
O2AST A X X 500,000 »3CH 1,500
307 212t0l & 20,000 20,000 0
04 QUI2HHALE & 20,000 20,000 0
O=Zglolg AL 15,000,000 15,000
o% M=Uz2 5,000,000& 5,000
FOSEAME ZIIHA 199,620 189,704 9,916
FOUSEAME A 170,703 161,008 9,695
101 @124 H] 9,695 0 9,695
04 DIt Z22XSE+ 9,695 0 9,695
OE2Y M= =Y 9,695
OPIE—3= 44,4103 «2H 61 5,419
Oxg=¢ 44,4103 »2H =20 2,576
Ou SH| 5,000 »2& ~61 610
O=gtl 5,000 »2E 61 610
OJN&E=¢ 80,0002 x2H «3& 480
206 M =24l 20,000 20,000 0
01 M= Hl 20,000 20,000 0
okzzd 22 x4 20,000,000& 20,000
401 AIEHIZ S CHHI 141,008 141,008 0
01 Al £ HI 140,000 140,000 0
CZzd « Otz A3HES
40,000,000& 40,000
OsZIIEAIE HE= 60,000, 000& 60,000
obtserz s 40,000,000& 40,000
03 AlE 2 THHI 1,008 1,008 0
OZ2Y % N3 2AS3MHE= S
140,000,000& *0.72% 1,008
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Crel: FOIZBAE ZJIdA (crel H)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
BAALASALLY 28,917 28,696 221

101 @124 dl 20,804 20,644 160
04 DIt 22 XREES 20,804 20,644 160
OYAALASE ALY 20,804
OJles 44,4103 x2B 127 11,281
Osg=+% 44 4103 =2H x57 5,063
Oul SH| 5,000 x2ZF 127 1,270
O=&l 5,000 =2 x127 1,270
OonsEsxe 80,0003 x2H +63 960
OZFEFItHI 400,000 x2H 13 800
Ol =4l 80,0003 x2&H *13] 160
201 2et24d] 6,064 6,045 19
01 At 2teltl 3,300 6,045 A2,745
ogdAIE Ixz 550,000 x1CH+6E 3,300
02 3322l 2,764 0 2,764
oYdRE FFUI 1,857 & x 12124 2,764
206 M= Hl 2,049 2,007 42
01 M2 4l 2,049 2,007 42
OYAEE 2SSl 2,049
OZR(¥BsIAHE) 1,857& »480L 892
OfLR(BHIINHSE) 2,036& *568L 1,157
HY2IZHI (FAMH)(IIEHIIE) 812,861 724,743 88,118
IA2HHI(FAHH) 724,441 639,283 85,158
ol 2| 724,441 639, 283 85,158
101 1A dl 700,981 617,083 83,898
01 B 700,981 617,083 83,898
o=s=(14Y) 451,631
053 (308 8) 3,849,500& x1H x 123 46,194
062 (285 3) 3,305,700& x4H 123 158,674
O72(185 &) 2,626,200& *4H 123 126,058
082(12588) 2,049,300& «3H +x123 73,775
09= (58 8) 1,423,000& x1H x 123 17,076
OJlsssz(21&8) 2,487,800 x1H «12& 29,854
olesRaxE 9,091
Os=i= 135,540 x4 H «12& 6,506
Cce2t= 107,680 x2H «12& 2,585
OFSEeE =, 451,631,0002 *0.9/12 33,873
(OFSE=gal= Pl Faa=: 15,600
O254 0| & 130,000& x4 H 128 6,240
0204 0l & ~25¢ 0] e+ 110,000& x4 H 128 5,280
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HH: HHE2IHH(FMH)(OIEH/DIE
CHol: ol @ At (S A ) (29 :a2)
S B G(SA) - NRANY - BES il 2
O158 0l &~20= 0] & 80,000& «1H x12& 960
O104 0l &~154 0] 8¢ 60,0002 «1H « 128 720
O5 01 &~104 0] &F 50,000 «4H « 128 2,400
OII=E+g 10,215
Ol < Xt 40,000 *14H «0. 78+ 122 5,242
OZ - i 20,0003 x14H +1.4812& 4,973
oXdstHIEE+4 3,888
Oxlssn 433,880 x14H »0. 1642 3,888
OF0sd+¢ 500,000 «1H =123 6,000
OJlsgR=g 2,040
Os53 50,0002 «1H « 128 600
O6s~73 30,0003 «4H «122 1,440
O = e =] 70,0002 «13H 12 10,920
oA +Y 30,000 *3H 122 1,080
OMEI=XER+E 60,0003 «2H 128 1,440
OAZtZESE 9,383 «14F «45A| 2+ 12 70,936
OF UG AHI 130,000& x 14 123 21,840
OZE S Ottl 451,631,000% «1/12%120% 45,164
O IHE &th|
451,631,000& »1/12%86%*1/30x20 2! *80% 17,263
A=A A 23,460 22,200 1,260
g EXH 23,460 22,200 1,260
Okr=) 250,000& x1H «12& 3,000
062 155,000& x4 H «12& 7,440
OFg= 140,000& »4H 122 6,720
08~9= 105,000 x5 »12& 6,300
|2 ZH(FHS) 88,420 85,460 2,960
JlE&l 88,420 85,460 2,960
201 £B-2dH| 39,860 39,940 A 80
01 At 22l 39,860 39,940 A 80
O Et==EH| 12,540
OsHMa2S 12,540,000 12,540
O= &l 10,920,000& 10,920
o2I+E 80,000& 1152 9,200
ogxz 7,200
O= AtI| 300,000 »2CH =12 7,200
202 044l 36,000 33,600 2,400
01 20! bl 2,400 2,400 0
O&2| ™o dl 2,400,000 2,400
02 M0 33,600 31,200 2,400
(©OF=EL G| 200,000& x14H «12& 33,600
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